PART - A

GENERAL INTELLIGENCE & REASONING

Directions : In question nos. 1 to 6, select the related word/
letter/ number from the given alternatives.

1.  ADHM:ZUON::GIKM:? N
(A) NOQS TQORN
(© TRPN (D) TNRP

2, Fi i | R R
(&) 147 (B) 99 m/m D) 158

v % T %
q g
3. 355:&(1::81:?
Br729 B 629 (319 () 8%
4. Victory : Joy :: ?: Sorrow

Defeat (B) Depression
(€) Melancholy L) Cry

]

Body : Stomach: : Library: ?
(A) ‘Cash (B) Book

12.

13.

14.

(A) Sitar (B) Violin

(O Tanpura (D) Veena

Arrange the following words as per order in th
dictionary.

(i) Forge {ii) Forget

(iii) Forgo (iv) Forgive (v) Format

(A) (v), (i), (i), (D), (1) (B) (i), (iv), (i), (i), (v)
(© (idi), (iv), (v), (i), (D (D) (D), (i), (iv), (i), (v)

Which one of the given responses would be a
meaningful order of the following words ?

(i) Police (ii) Punishment

(iil) Crime (iv) Judge (v) Judgement
(A) (i), (i), (iv), (iii), (v)  (B) (v), (iv), (iii), (ii), (i)
© (i), (), (v), (v), (i) (D) (i), (i), (i), (iv), (v)

Directions : In question nos. 15 to 18, a series is given with
omne term missing. Choose the correct alternative from the
given ones that will complete the series.

(C) Headmaster (D) School 15. KJL,ONP,SRT,_?
(A) WVX (B) VWX
6.  HAND:JBPE::PALM:? -t M IV (©) WXV (D) VUW
) DIV et 16. 198,202, 211,227, 72
(5 Ot (B RENH ) 26 B 252 (@275 () 245
Directions : In question nos. 7 to 12, select the one whichis | 77, AN,BC,CP,DQ, 2
different from the other three responses. (A) EG ,{B}, R (© EH D) EF
7 m eaching (B) Counselling - AP B B g ST
(C) Instruction (D) Guidance (A) 210 (B) 211 S 212 (D) 209
\ 2 TR ;
(A (5. 49) (B) (121, 169) & d";f“‘;li; of alphabets are given with each being
(7, 169) (D) (9,25) Assighed a number. These have to be unscrambled
. (A) HEAT (B) MEAT atecirom the given responses,
(QARIEET (D) BEAT E R D 0 z 5
(1) (i) | (iii) : -
0. (A) B465 (B) 2643 T SoRL () (i)
© 4867 (D) 6243 & (A (), (v, (vi, (i), i) (i)
bk \ (B (vi), (v). (iv), (i), (i) (i)
. (A) EhjL (B) PrtV 4
(Q}KhhpR (D) Cegl v S {HT]'{W}’ ) b
, A : 1 () (v, (vi, Giv), (i), (3 (i)
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20.

23,

24,

Which one of the following diagrams best depicts
the relationship among Mammals, Cows and

Crows ?
e CRORS

| O
m@o fDl

Which of the following figure best represents the
relationship amongst the Human being, Girl, Boy ?

® @ ®) @
© @O o OO0

Ina row at a bus stop, ' A’ is 7th from the left and ‘B’
is 9™ from the right. They both interchange their
positions. Now A becomes 111" from the left. How
many people are there in the row ?

(A) 10 (B) 20 © 19 D) 18

At present, the ratio between the ages of Arun and
Deepak is 4 : 3. After 6 years, Arun's age will be
26 years. What is the age of Deepak at present 7

(A) 15 years (B) 19 years
{C) 24 years Dy 12 years

From the given alternatives select the word which
cannot be formed using the letters of the given word,
Encouragement

(A) game (B) tear (O neck (D) meat

If DELHI is coded as 73541 and CALCUTTA as
82589662, then how would CALICUT be coded in
that code ? 1

(A) 5978213
(©) 8543691

(B) B251896
(D) 5279431

26.

27.

28.

If JUNE' is written as ‘PORS" and "AUCG [«
written as ‘WQFQMN’. How can 'GUFES;
written in this same coding language ?

(A) FPSMN (B) FQSMN

(©) FOSNM (D) FOTMN

In the given figure, circles represent stud
studying three different subjects. How m
students study all the three subjects ?

1

f 2
fa 36
\

|'
\
l"-\.

\\' s

o

g

() 2 (B) 3 © 4 ©) 1

Arun said, “This girl is the wife of the grandsor
my mother”. Whois Arun to the girl ?

(A) Grandfather (B) Husband

{C) Father-in-law (D)} Father

Directions : In question nos. 29 and 30, some equations :
solved on the basis of a certain system. On the same bas
find out the correct answer for the unsolved equation.

29,

30.

31.

If 235 =238 and 452 =45, then 345=7
{A) 49 (B) 66 <y 72 (D) 50
2X3=49 53x6=2536,1%9=181 4x7=2

(&) 1628 (B) 1649 (C) 2549 D) 12

If “x"means’+’, + means’—', + means’ =" a;
‘="means’ X’ then what should be the value of t
given equation ?
14x4+70+10-2= ?
(A) 33 (B) 15 G 30 (D) 4
Select the correct combination of mathematical sig
to replace * signs and to balance the given equatic
S5 523 * 10

(AN H = (B)
Q) ++ =X D) + =+ x

+ — X =

fl
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Directions : In question nos. 33 and 34, select the missing | Directions: In question nos. 39 and 40, one/ two statements
number from the given responses. are given followed by two,/four conclusions I, II, Il and IV
You have to consider the statements to be frue even if they
seem to be at variance from commonly known facts. You

33. have to decide which of the given conclusions, if any, follow
a 4 from the given statements.
60
39.  Statement

Songs always have singers tosing

(A) 330  (B) 336 (O 428 (D) 420 thaems
Conclusion I: Singers make asong,
8. 12 15 716 Il : There is no un - sung song.
03 04 05 (A) Only conclusion II follows
i; EZ ﬂ: (B) Both conclusions I and IT follow
(A) 104 ® 320 Q 25 D) 84 (C) Neither conclusion I nor I follows

(D) Omly conclusion [ follows

35.  Seema walks 30 m North. Then she turns right and
walks 30 m then she turns right and walks 55 m, a0,

Statements I: Some catsare dogs.
Then she turns left and walks 20m. Then she again

turns left and walks 25 m. How many metres away Ik: Nodogisa Toys
is she from her original position ? Conclusion I: Somedogs arecats
(A) 45m (&) ?U L II: Some Toys are cats
{Brgaa (e IMl: Some cats are not Toys
36. Fourdifferent positions of dice are as shown below. Iv: All Toys are cats
' What numberis opposite to face 37 (&) Only Conclusions T and 111 follow
(B) Only Conclusions 1T and I follow:
o | 0 (O Only Conclusions 1 and 11 follow
3 (D) Only Conclusion I follows
(i) (i) i) (iv)
{A) 4 {B) 3 G 2 D) 6 Directions : In question nos. 41 and 42, which answer figure

; will complete the question figure ?
37.  After walking 10m, Shankar turned left and covered
a distance of 6 m, then turned right and covered a
distance of 20m. In the end, he was moving towards
the south. From which direction did Shankar start - Al

41, Questionfigure:

his journey ? @ @]

(A) West (B) North =

(C) South (D} East

ix persons are sitting inacircle. A is facing B, Bis. Answer figures :
38. -t':J merightngand]E&qu. Cistotheleftof D. Fis. - T

to the right of A. Now D exchanges his seat with @ ) @ @

4 E withB. who will be sitting to the leftof D 2 : = = ]

?:w - ®E QO A OB (A) (B) © D)
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12, Question figure:

4
)

?

fics
L

i

Answer figures :
(B)

(A)

A

f ®

Directions : In question nos, 43 and 44, select the answer
figure in which the question figure is hidden/embedded.

43.  Question figure:

7

Answer figures:

|

(<

(D)

% ®

44. Questonfigure:

g

Answer fig_um:

(A) (B)
_

From the given answer figures,
when opened ?

45.  Question figures:

Directions : In question nos. 45 and 46, A piece of paper i
folded and cut as shown below in the question figures

indicate how it will appear

B

™\ |

L—"-’E I

R

Answer figures:

NICF DH a
IE_ L | = |
E Answer figures :
)
(A) (B) )ﬁ// (D)
GH WORK '
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Directions : [n question nos. 47 and 48, ifa mirroris placed | 49.
on the line AB, then which of the answer figures is the
rightimage of the given figure ?

47.  Question figure:

A

Answer figures:

A word is represented by only one setof numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix [ are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and nex! by its
coltmn, e.g. “C’ can be represented by 00, 12, 23, etc.
and ‘M’ can be represented by 56, 67, 77, etc.

Similarly, you have to identify the set for the given

word - GOD,

Matrix I Matrix Il
pli]z[3]4 57617 [8]2]
0|C|D[E[F |G 5L IMINI2E
TIGID|CIFIE| [R[P[EIM[N]P
I B FlG oD LIOM[E[N
|G CIF[D|E S N|[O|P[M|L
I|D|ClIE|G|E 9P| LIM|MN|O
i

10, 11, 65 {B). 95, 70,712

/ [
M, 10 (D) 00,10,75

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix [ are
numbered from 0 to 4 and that of Matrix [ are
numbered from5to 9. A letter from these matrices

o' beww.ﬁm by its row and nex! by its
coliget &8 B canbe represented by 01, 10, 22 otc

‘be represented by 55, 76, 86, etc.
you have to identify the set for the giver




51.

(B) i the production and the price
)ﬂ%ﬂﬁtﬂﬂp&!aﬁ as long as it covers even the
variable costs.

s PART - B
GENERAL KNOWLEDGE & GENERAL AWARENESS

If a firm is operating at loss in the short-period in
perfect competition, it should ;

(A) decrease its production and the price

(D) shut-downand leave the industry

For which one of the following commissions, there
is no provision in the Indian Constitution ?

(&) Eleclion Comimnission

(B) Finance Commission

ing Commission &

(D) Union Public Service Commission

Which one of the followmg statements about
PYROLYSIS, which is a process for solid waste
treatment is incorrect 7

(A) It converts the waste into solid, liquid and Eﬁs‘ 5 i

ufmfhkhthemsﬁ!tanthqmdandgasﬂmbe

Thﬂ pracéss occurs at a temperahuwabnve .
Ma‘!myheﬂcprwsum

The prmess occurs under high pressure a
(C;l mpmtmmm

Which one of the following is not a line of
demarcation between two countries 7

nternational Date line
(B) MacMahon Line
(C) Radcliffe Linge
(1) Durand Line

Which of the following supports particle nature of
photons ?

(&) Diffraction
(B} Faolarization
/,{L Photoelectric effect

() Interference

Which country won the Sultan AzlanShah Hockey
tournament in Malaysia in March 2013 #

(A) Malaysia (B) Newzealand
(C) India Australia

The heaviest naturally occuring element is ;
; (B] Polonium
(C) Thorium (2} Uranium

Whlr:i‘t'qi the following is not a-n aperatm;.
sy-sm :



b2,  Haptens are:

(A) doantigens
/C.E‘z'::mple’te antigens

{O) Antibodies

(D) Isoantigens

63. Which state in India occupies the same ranking
position in respect of area and population ?
() ipur (B) Meghalaya
Magaland (D) Gujarat

61,  Sulphus dioxide bleaches colouring matter by
AJ Reduction (B) Dehydration
{0) Decomposition (D) Oxidation

65. Which of the following elements is mnot |

raﬂm-ar:hve 7
&) Ry
¢~ Zirconium (D) Uranium

66. Wﬁhﬁgaﬁplmﬂ&mms due to excessive ; } 1\

(t‘\:r“ (B) Guttation

(B) Plutonium .

70.  Where was the Fifth BRICS Summit hosted by South

Africa ip March 2013 7
P
/L"ST Durban (B) Johannesburg
(C) Pretoria (D) Cape Town

71.  Lake formed ina cutoff river meander is called :
(A) Playa Lake (B) Meteoric Lake
(@ Ox-Bowlake (D) CraterLake

72.  The rapidly growing mass of phytoplankton
covering the surface water of a lake or pond is known
as:

e
(A} Eutrophication FJ;BT’ Water bloom
(C) Water pollution (D) Water hyacinth

73. Which is the leading state in India

in “Ship Breaking * industry ?
(A) Tamil Nadu (B) Maharashtra
() Gujarat (D) West Bengal

.. | 74. Thﬁ;t&lephnne_h"ne is-fepnnﬁc:ted' through the

___onthecomputer. .



77.  Match the following : 82. A spontaneous change is one in which there is :

(a) Chalukyas (i) Malkhed (A) Aleweringof entrapy

(b) Hoysalas (ii) Vatapi Alowering of free energy

{¢) Rashtrakutas (iii) Warangal () Imcrease in free energy

(d) Kakatiyas (iv) Dwarasamudra (D) Anincrease in Internal energy

Wi} (B)-(iw) (¢)-{f) (d)-(ii) | 83.  Amongthe following states, which one has adopted

the “MNeem” tree as the state tree ?
{A) Maharashtra (B) Tamil Nadu

(B) (@)-(iv) (b)-(iii) (c)-3) (d)-() !
(©) @) (b)-(ii) (¢)-(iti) (d)-(iv)

D) (a)-{ii) (B)-(ii) (c)-(iv) (d)-(i) . (C) Kerala f@yﬁ.ﬁ‘dhra Pradesh
|
78.  Wings of birdsare: | B4, qusslﬂ-m line is the imaginary line joining places of
BYS S iedbindiinbs _ (A} Rainfall (B) Humidity
(B) Mew structure ﬁ/ﬁ;vatiun (D) Temperature
_Mddiﬁgédfure limbs .| 85.  Who is the Chairperson of the National Green
f Tribunal 7
(&) i 1 Veera

!
79.  The world’s tallest statue of Mahatma Gandhi is in |
' ' Justice Swatantra Kumar

{ & i (©) Justice K.G. Balakrishnan
' (D) Justice Markandey Singh

ity
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